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Seat No.: ________                                                           Enrolment 
No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2015 

Subject Code: 3330604 Date: 11-05-2014        
Subject Name: Structural Mechanics  
Time: 02:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 
2. Make Suitable assumptions wherever necessary.  
3. Figures to the right indicate full marks.  
4. Use of programmable & Communication aids are strictly prohibited.  
5. Use of only simple calculator is permitted in Mathematics.  
6. English version is authentic. 

 
Q.1  Answer any seven out of ten. 14 

 1. Explain stress and strain.  
 2. A steel bar 1.5m long and 12mm in diameter is subjected to an axial tensile 

force of 30KN.Find stress, strain. Take E=2 x 105 N/mm2. 
 

 3. Explain (i) section modulus (ii) radius of gyration.  
 4. Define (i) shear force (ii) bending  moment  
 5. Explain sign conventions for sagging moment and hogging moment  
 6. Define (i) point of contra flexure (ii) moment of resistance  
 7. Give formula for maximum B.M. for(i) simply supported beam with central 

point load (ii) cantilever beam with point load at free end. 
 

 8. Draw shear – stress distribution diagram for (i) rectangular section (ii) circular 
section. 

 

 9. Explain short column and long column .  
 10. Give difference between strut and column.  
    Q.2 (a) Define (i) modulus of elasticity (ii) composite section (iii) strain energy. 03 
  OR  
 (a) Define (i) poisson’s ratio (ii) modulus of rigidity (iii) linear strain. 03 
 (b) An R.C.C. column 300mm x 300mm  in size is provided with 8 numbers of 

12mm  diameter  steel bars. If permissible stress in concrete and steel is 
5N/mm2 and 190N/mm2 respectively ,calculate load carrying capacity of the 
column. 

03 

  OR  
 (b) A steel bar 400mm long,20mm wide and 10mm thick is subjected to a tensile 

load of  200  kn. Find change  in  length and width of the bar. Take                  
E = 2 x105N/mm2  and  poisson’s ratio 0.35. 

03 

 (c) Explain parallel axis and perpendicular theorem. 04 
  OR  
 (c) Find moment of inertia about Ixx for the section as shown in figure .1 04 
 (d) Explain relationship between shear force and bending moment. 04 
  OR  
 (d) Find moment of inertia about Ixx for the section as shown in figure .2 04 
    Q.3 (a) Explain different types of loads with sketch. 03 
  OR  
 (a) Explain any 3 types of  beams. 03 
 (b) Draw shear force and bending moment diagram for cantilever beam  shown in 

figure.3 
03 
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  OR  
 (b) A simply supported  beam has  span of 4m  and  250mm  x 400mm  cross 

section. It carries a U.D.L.of 20Kn/m  on entire span. Find  maximum  bending 
stress in beam. 

03 

 (c) Explain different types of supports with sketch. 04 
  OR  
 (c) Explain determinate and indeterminate beam with 2 examples for each. 04 
 (d) Draw shear force and bending moment diagram for simply supported beam 

shown in figure.4 
04 

  OR  
 (d) State assumptions in theory of pure bending. 04 
    Q.4 (a) Distinguish between beam and truss. 03 
  OR  
 (a) Write brief note on limitations of  Euler’s formula. 03 
 (b) State types of trusses ( as per stability). 04 
  OR  
 (b) A hollow circular cast iron column having external diameter 125mm and 

internal diameter 100mm is fixed at both ends. Length of column is 4m.          
Calculate Euler’s buckling load for the  column.Take E = 0.14 
x105N/mm2.Fc=500N/mm2 and alpha= 1/1600. 

04 

 (c) Using method of joints,find forces in all the members of the frame shown in 
figure.5 

07 

    Q.5 (a) State the formula for effective length of column for different end conditions. 04 
 (b) Draw components of roof truss. 04 
 (c) Explain equation for shear stress and average shear stress in beam. 03 
 (d) Explain difference between linear strain and lateral strain. 03 
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�જુરાતી 

પ�. ૧  દશમાથંી કોઇપણ સાતના જવાબ આપો. ૧૪ 
 ૧. પ્રિતબળ તેમજ િવકાર સમ�.  

 ૨. 1.5m  ની લબંાઈ અને  12mm વ્યાસવાળા એક પોલાદના સ�ળયા પર 

30KN �ુ ંઅક્ષીય તાણબળ લાગ  ે . સ�ળયામા ંઉત્પ� થ �ું પ્રિ, િવકાર  

અને લબંાઈમા ંથતો વધારો શોધો. E = 2 × 105 
 N/mm2  લો. 

 

 ૩. (૧) સેકશન મોડ�લુસ (૨) ર� �ડયસ ઓફ ગાયર�શન સમ�વો  

 ૪. વ્યાખ્યા આ. (૧) કતર્નબળ(૨) નમન�ણૂર  

 ૫. સેગ�ગ મોમેન્ટ અને હોગ�ગ મોમેન્ટ માટ� ��ઢગત િનશાનીઓ સમ�  

 ૬. વ્યાખ્યા આપ:- (૧) પ્રિતનમન �બ�� (૨) પ્રિતરોધ �ૂ .  

 ૭. બીમ માટ� મહ�મ બે�ન્ડગ મોમેન્ટના  �ૂત્રો.  

(૧) સાદ� ર�તે ટ�કવેલ બીમના મધ્યમાં �બ��ુભાર લાગત.
(૨) ક�ન્ટ�લીવર

બીમના �કુ્ત છેડા પર �બ��ુભાર લાગત. 

 

 ૮. �ુદા-�ુદા આડછેદ માટ� િશયર સ ટ્્ર�સ િવતરણ ડાયાગ્રામ.
                   

(૧) લબંચોરસ આડછેદ (૨) ગોળાકાર આડછેદ.
 

 

 ૯. લાબંો કોલમ અને �ૂંકો કોલમ સમ�વો.
  

 ૧૦ સ્ટ્રટ અને કોલમ વચ્ચેનો તફાવત સ.
  

    
પ�. ર અ વ્યાખ્યા આ(૧)�સ્થિતસ્થાપકતામાપાં(૨)કંપોઝીટ સેકશન(3) િવકાર 

કાયર્શ�ક. 

૦૩ 

  અથવા  

 અ વ્યાખ્યા આ. (૧) પોઈસનનો �ણુો�ર (૨) દઢતા માપાકં (૩) ર� �ખક િવકાર ૦૩ 
 બ આર.સી.સી. ના ૩૦૦ િમ.મી. × ૩૦૦ િમ.મી. ના એક સ્તંભના૧૨ 

િમ.મી.વ્યાસના લોખંડના૮ સ�ળયા �કૂવામા ંઆવ્યા છ. ક્ર�ક�ટ અને લોખં

માટ� માન્ય પ્રિતબળ અ�ુક૫ ન્� /િમ/મી2   અને ૧૯૦ ન્� /િમ.મી2 , હોય તો 

સ્તંભ દ્વારા વહન થતો �ુલ ભાર શ.  

૦૩ 

  અથવા  

 બ 400mm લાબંા,20mm પહોળા અને10mm �ડાઈ ધરાવતા સ્ટોલના એક

સ�ળયાપર 200KN �ુ ંઅક્ષીયતાણબળ લાગ  ે . જો E=2×105 N/mm2 અને 

પોઈસન�ણુો�ર 0.35 હોય તો સળ�યાની લબંાઈ,પહોળાઈમા ંથતા ંફ�રફાર 

શોધો. 

૦૩ 

 ક સમંાતર અક્ષ પ્રમેય તેમજ લંબ અક્ષ પ્રમ. ૦૪ 
  અથવા  

 ક આ�ૃિત -૧મા ંદશાર્વેલ આડછેદ�ુંX-X અક્ષ આગળ�ું જડત્વ�ૂણર્  .
 ૦૪ 
 ડ કતર્નબળ અને નમન�ૂણર્ વચ્ચે નો �તરસંબંધ સમ. ૦૪ 
  અથવા  
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 ડ આ�ૃિત -૨મા ંદશાર્વેલ આડછેદ�ુંX-X અક્ષ આગળ�ું જડત્વ�ૂણર્   ૦૪ 
    

પ�. ૩ અ બીમ પર લાગતા ં�ુદા �ુદા પ્રકારના ભાર આ�ૃિત દોર� સમ�. ૦૩ 
  અથવા  

 અ કોઈપણ ૩ પ્રકારના બીમ સમ�.
 ૦૩ 
 બ આ�ૃિત–૩ મા ંદશાર્વેલ એક બ�ુધારણ બીમ માટ� કતર્નબળ અને નમન�ૂણ  

આલેખ દોરો. 

૦૩ 

  અથવા  

 બ એક 4m લાબંા સાદ� ર�તે ટ�કવેલ બીમના આડછેદ�ુ ંમાપ 250mm × 

400mm છે. બીમની �રૂ��રૂ� લબંાઈ ઉપર 20KN/m નો સમિવતર�ત ભાર 

લાગે છે. બીમમા ંઉત્પ� થ �ું મહ�મ નમન પ્રિતબળ શ.
 

૦૩ 

 ક બીમના �ુદા �ુદા પ્રકારના ટ�કાઓ આ�ૃિત દોર� સમ�. ૦૪ 
  અથવા  

 ક ડ�ટરમીનેટ,ઈનડ�ટરમીનેટ બીમ દર�ક માટ� ૨ ઉદાહરણો આપી સમ�વો.

 ૦૪ 
 ડ આ�ૃિત–૪મા ંદશાર્વેલ સાદ�ર�તે ટ�કવેલ બીમ માટ� નમન�ૂણર્ આલેખ દ ો.  ૦૪ 
  અથવા  

 ડ નમનના િસધ્ધાંત માટ� કરવામાં આવતી ધારણાઓ આપ.  ૦૪ 

    પ્. 

૪ 

અ બીમ અને ક�ચી વચ્ચે તફાવત સમ�વ. ૦૩ 

  અથવા  

 અ �લૂરના �તૂ્રની મયાર્દાઓ િવશે �ૂંકન�ધ .
 ૦૩ 

 બ �સ્થરતાના આધાર� ટ્રસના પ્રકારો . ૦૪ 

  અથવા  

 બ એક પોલો વ� ુર્ળાકાર કાસ્ટ આપને સ્તંભનો બાહ્ 125mm અને �ત�રક 

વ્યાસ100mm છે, તેના બનેં છેડા �ફકસ્ડ છ. કોલમની લબંાઈ 4m છે. 

�લુરનો બકલ�ગ ભાર શોધો. 

૦૪ 

 ક આ�ૃિત ૫ મા ંદશાર્વેલ ક�ચીના બધા અવયવોમાં ઉત્પ� થતાં બળોની �ક�મત      

સાધંાની ર�તે શોધો. 

૦૭ 

    પ્. 

૫ 

અ કોલમના છેડાઓની �ુદ� �ુદ� શરતો માટ� ઈફ�કટ�વ લબંાઈના �તૂ્રો જણા. ૦૪ 

 બ ટ્રસના િવિવધ કમ્પોનન્ટ .
 ૦૪ 

 ક બીમમા ંઉદભવતા િશયર સ ટ્્ર�સ�ું તેમજ એવર�જ િશયર સ્ટ્ર�સ �ું �ૂત.
 ૦૩ 

 ડ ર� �ખક િવકાર તેમજ પા��ય િવકાર વચ્ચેનો તફાવત સમ�વ. 
 ૦૩ 
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